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LOGIC AND PHILOSOPHY

Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks

for the questions.

1. Answer the following as directed : 1x12=12

were AR Hored S Oed faml ¢
(a) Which of the following statements is not correct ?
fffde @ Ofe wa w272

(i) Knowledge by internal perception is immediate knowledge:

s efoEd BiEl e 9 WY (202 A9F i |
(i) Knowledge by testimony is mediate knowledge.
%779 B9l S 9 @ (202 AR @i |

(i) Knowledge by inference is not mediate knowledge.
SIS A9l FS F9] Sl AT @i w23 |

(iv) Knowledge by external perception is not mediate knowled4e.
QA Bl e F9 Gl AT R 27 |
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(b) “Whatever is materially true, may not be formally true.” — Is it correct? (ir) Nothing is permanent.
“IETOSIE A9) 2 SDIENONE 9y 924€ AT |17 — G301 W@ ? | (I 3 ZIA T2

_ (iv) No men are angels.
(c) Which of the following statements is correct ? - =

iy Al _ (I T2 @S 727 |
AaERe @R Sfe wa? |
(g9 “In inductive inference the conclusion necessarily follows from the

(i) All terms are not words. : - premises.” — Is it true ?
AN 2R > T2 | ~ “SATS SRR 2[ SRR Fraie [epe 577 — G301 79y @12
(i) All words are terms. (h) What is the position of the middle term in the second figure of a

syllogism ?

TN Bom RO (ZoonT SHES (62

AR XA AW |

(ii) Some words are not terms.
oo =77 oiv 753 | '. (i) State any one utility of using symbols in logic.
SHRGITS 2SRF AR RIcPIc] 4o SISl Szl 34 |

(iv) No word is term.

@I =3 2% 757 | . . () How many simple propositions are there in the following compound
_ : proposition ?
(d) 1s the copula a term in a logical proposition ? fsfeRe (@fbe BAEe (26! T Wb [iZe (2 Sim?
SE ST 590 A6 AV 2 72 “It is not true that Hari plays football but Jadu plays cricket.”

“q3(51 51 T2¥ (@ 2@ ToIE (@ [ MR Fes (@l

(e) Find out the correct answer : _ _ ; ' )
(k) Which of the following groups of philosophers is a group of rationalists ?

w7 ©edo] b Sieedl ¢

The quantitative/ qualita-tive meaning of a term is its denotation. fFrsfafe wfee wrhRs fooTe @R I mEes e
(RICA! Bt 2 AfarIetofs / @eiors =R (0= BAR A | (i)  Descartes, Hume, Spinoza
(f)  Which of the following propositions is an example of one-predicate general (oD, RGH, e

BroRosItioni | (i) Plato, Spinoza, Leibniz

e IpmEe fToas (@Ml G- RIETE A= B @bl SRS 2 | CRIC1, FiGre, sfidfe

() Lions exist. | (iii) Hume, Locke, Berkeley
Picz @iz | RS, o7, AT

(i) Some philosophers are not politicians. ' | (iv) Descartes, Spinoza, Locke
g TR =8 AeaireRT | : ol T
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() Who is the founder of Vaisesika Philosophy ? . 10. State any two general rules of pure categorical syllogism. 2

T T e (P ? S e RS R 7o AidiEe Jasw S 9 |

What i e examplé 1+1=9 11. State any two points of similarity between philosophy and science. 2
at is material truth ? Give ;
T Sl e Siers A1 [ 75 AT Skl 4 |
TS Hope!l Wi B2 Srizad 3l | -
12. Analyse the etyniological meaning of the word ‘Metaphysics’. 2
State any two points of difference between traditional logic and symbolic Metaphysics’ *(5R Jeifere =gl Rose |
logic. 2
AT THRGEH S LSS SHAGT AES AF R 7o) #Ai2f feri | 13. Define Purvavat Inference with suitable example. 1+1=2
TS THIRAIR 274 SIEINe FKe! fuzil |
4. Define negative proposition with suitable example. 1+1=2 | 4
A 1 14. Briefly explain the utility of logic.
TS SUIZFe A el o Al [l | 5
i A B ; ‘ wSRERE Cocifer [I oI il 4 |
A ] ! L ) o I A :~q] form :
5. What is meant by distribution of terms '15. Reduce any four of the following sentences into proper logice, 1x4=4
A AT Jferest fF geenal 292 | ' 4 :
: woTo [Hl AREITES Rl BIfAbIP SRS Joete e I ¢
Define subjectless proposition with suitable example. 1+1=2 (@) Almost all birds can fly.
oS BizePTR Sre) Aiel bad K@l | ol TRl bR SR A |
(b) Every lion is carnivorous.
State any two distinctions between sentence and proposition. 2 Arers iRz RIS |
A SN o Niere <=6 [l go) Ak SrEd 4 | - (c) All swans are not white.
| AHCE AR 90 T2 |
8. State any two points of difference between deductive and inductive inference, | (d) Lions never drink coffee.
oM 1522 foane sfzF T |
[FoRE S Siiorse stiere 296 [l 75! 2112 T 91 | (e) Learned are honoured everywhere.
| ' fami e sffere|
9. Give the converse and obverse of the proposition — “No men are gods.” G 4
_ 1+1=2 l6. Write a short note on four-fold classification of propos!
“ (I TE T2H M@ 7 — G2 PADR BR[OS o4 IF AfGIOS q57 ewie 54 | W el efems [ 9t 53 Gl i |
| ' &
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What is Obversion ? State any three rules of obversion. 1488

sifsqen F2 afeqeona RepiEr fomo! Fas Srad <1 |

Reduce any one of the following syllogistic arguments into logical form as
test its validity :

FRGIRS TE SRR R @b SRS Fe ARie [ ([@asl 2[r= 5§

All men are not industrious, he is industrious. Therefore, he is not m&
IFCSTl AR AR 723, co¢ T | sifers, @2 A2 & |

My arm touches the table. The table touches the floor. Therefore, @
arm touches the floor.

(R B e i Rz (e e == SRz ofew, oe 2roe JE
i TR

(@)

(b)

What is symbolic logic ? What are the three general characteristics of symbo
logic according to C.I. Lewis ? 143
ST wERFG FIF @ICET? C.L. Lewis= 00 ASHIGE SH@ig Aldael a2 1ol

< o2

Write short note on any one of the following :

woTe WMAERS Repiear @i [ 53 Gt @l 8

(a) Logical constants
S SR

(b) Truth function
\9j FFeT
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Construct truth table for any one of the following propositional forms &

determine whether it is tautology, contradictory or contingent :

TWWWWWQWWWWWWWTw7

ol « wfweaw Je Fda =t ¢

(@ p>(pva)

(b) (pvq).(~p-~9)
€ (p.q)>Pp

(d) (poq)vp

[6]
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Write a -short note on the classification of Indian Philosophy.

SIS wiE (=TSR [aw 9ol 5 Gl R

Briefly express any four points of difference between realism and idealism.
4

QBT BN SRS Sere A/ [edica) 51561 AL I A5 1 |

What do you mean by axiology ? Briefly discuss its relation to philosophy.

2+4=6
mm%wpmar*mwsﬂaww;
Or / 913«
Explam briefly any three points of difference between philosophy and science.
2x3=6
T S Keaes e 4 Repica fomor #iies 50 5= 591 |
Briefly discuss the nature of Indian Philosophy. 6
SRS W T Al AFO THCH b3, S A5G |
Or / g2<1
Briefly explain any three common characteristics of Indian Philosophy.
2x3=6

OIS Wl Ricplc o) disel @ B3¢ DI =1 |

What is Rationalism ? Briefly express four points of criticism against

rationalism. 2+4=6
am st 52 gfaaa [eca Eﬁ?ﬁf?’mmﬂw B 2= 51 |

Or /924
What is Empiricism ? Mention four characteristics of empiricism. 2+4=6
SfoEeRm TR @I ? SSSEORME b/90) (&% S 1 |
What is Realism ? Mention four characteristics of Realism. 2+4=6
TR FE @M 2 ABIAMS 5196 @S S T4 |

Or /9
What is Idealism ? Mention four characteristics of Idealism. - 2+4=6
SIRAW FIF @IE 2 SRAMI 516! @R Szl 5 |
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